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(1)log 7
log 17=1.2

(2)1log (1.5x 10™)

log(1.5x10-4)=-3.8
(3)In 2.3

In 2.3=0.8
(4)log, 15

log2 15=log15log2=3.9
(5)log, €’

logb e7=7XIn eln 5=4.3
(6)In 7

In 7=1.95

(o) ) dio 9o 532 w8l W ile] Lo vl Bo JS aoud 251
(7)logs 27
log5 27=log 27log 5=2.05
(8)logl14 19

o7 lgio 1/3



alaia 2
L::JLaJTlc\_AJ:.u_IIm %}\}:‘6 L)‘UL“'*'” ULS ul.ll?!

log14 19=log 19log 14=Ilog 19-log 4=—-2.12
(9) log, 8
log7 8=log 8log 7=1.07
(10) 10g8 18
log8 18=-1
(11)log 10000
log 10000=4
(12)log, 18
log3 18=log 18log 3=2.63
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(13) 5x = 20
x=logb 120=log 120log 5=2.9746
(14) —4edx=—-64
edx=164x=In 16x=14In 16=0.9631
(15) 32x+1=75x

log32x+1=1log75x(2x+1)log3=(5x)log72xlog3+log3=5xlog72xlog3
—5xlog7=log3x(2log3—5log7)=log3x=log32log3—>5log7=—-0.1459

(16) 64x+2(8x)—3=0

(8x)24+2(8)x—3=0u24+2u—-3=0(u+3)(u—1)=0u=-30oru=18x=-30r8
x=1

X pud oz 8x > 0 0V (> Lo pud 8 aslrallx = -3
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8x=1-x=log8 1=0
(17) 7(4)x=49

x=log4 7=log 7log 4=1.4037
(18) 21x—1=37x+1

log21x—1=log37x+1(x—1)log21=(7x+1)log3xlog21—-log21="7xlog3
+log3xlog21-7xlog3=log21+log3x(log21—-7log3)=log21+log3x=I
0g21+log3log21-7log3=—0.8918
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